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• P.52. L13.: “Lens” should be “lens”

• P.54. L.−8: “any orbit of a completely regular G-space with G com-
pact” should be “any orbit provided G is compact”

• P.59. L.5: Add the following: “(f̃ may not be determined even up to
the action of H.)”

• P.62. L.3: “so that” should be “that”

• P.65. L.7: “finite set of points” should be “a finite set of points”

• P.76. L.14–15: “this condition” should be “these conditions”

• P.117. L.−1: “is a diffeomorphism” should be “is a lift of a diffeomor-
phism”

• P.133. L.7: “a torus with one-hole” should be “one-holed tori”

• P.143. L.−8– −7: “has same geodesics structures as Euclidean metrics
up to reparametrizations” should be “has the same geodesic structure
as that of a Euclidean metric up to reparametrizations”
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